A B IRBR

IEHA ] I A =. 3%
BINEHRAEHMTEZD2 20184108 9H ~20244 11 H14H s
) 2024%9H
I*E = ﬁLL 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 -
= X kK A &  + @B A & Kk #® & £ @B H K KX £ & £ ®B B *x KX X® = £ B 7
[ERf v —FK]
{15 G)BLE {IE2GBL2 $3-14 {E1E£©)BLS {8IE2(DBL1 $£3-16,17 {E1BE@BL1 {BIB£3-9 | {BIE£3-10
AT AL IU—HTH o _ T I I
hERhR (8% /5. B4, o> 9)—b)
e 1BL(19-24) A-FHET | 24450 | m2 ? [N I IR I B RN I IR R R I IR R |
ERAR (85, B8 a2 o1)—1)
- - 1BL(19-24) G-L ##%ET | 24450 m2 F [ IR I I R F N I I — —
EERR (8%AR. B8 hERAR (8555 . B4)
2BLU2-18) AFHRT | 24450 | m2 _ [N I IR I B F R I IR R |
R (B%AR. B4 HERAR (8557 . B04)
2BL(12-18) G-L #RT | 6058 K m2 W R B R I R E— N I R E— |
3T (EER. B Vo) —b)
e 3BLO-13) AF HRT 24450 | m2 W [N I IR I B RN I IR R R I IR R |
YT (8. BH. OV —b)
SBLO-19) G-L HET 6,058 | m2 # [ IR I I R F [ I I B |
FIRIT (TR ~PEKMR) YT (8KFR. B8
e 4BL(4-8) AF T 6.058 | m2 ? R B I F [ A R B |
+ ) FRI (TR ~ERIR)
= 4BL(4-8) G-L AT 6.0%8 |\ m # R B R N I R E— |
I
i TEHIEREZ. X (34KH) FRI (TERR~FEKR)
B SBL(-4) AF ST 6,058 | m2 ? ? — R I IR R |
TERLREEZ . Hi* (34 H) FTRI(TERRE~DEKMR)
SBL(I~4) G-L MET 6058 | m2 e e e e e R f—
D1-12(4F%¥H) |E1-15(3FkH) C21-36 (4E%H) D1-12(3E%H) C21-36 (3E%H)
AEET  TH—REL L ] S E— I —— I
C21-36 (5% H) |D1-12(4E%H) E1-15(3E%H) C21-36 (4% H) D1-12(3E%H)
- Rl 1 PN C21-36 (3% H)
{B1EEDF1-16 {B1E2(D@D1-E15 {815¢?2C21-36
&eL L o I N I N — I ——
[ LRV —F]
EEpEREIR
IRRteRT |SEREREET(ZR) B e ) O IR IR B R R I B R I B ——
RSB
EERBRERT(ER) L i B R I I R — N I N — R I S — ——
[Znitk]
- KA . KGR ST - RBBSAE
REAE  prepms oo H H ‘ H




